
www.royalgourmetcorp.com

hotline
service@royalgourmetusa.com

Durable Stainless Steel 3-Burner Gas/Charcoal Combo Grill

Model: ZH3003S



4

2

1 3

5

8
9

15

13

18

6

7

4

14

12
1011

1617

21

24
23

22

25

19

26

27

20

28

29
34

31

33

32

30

12

14 15

5

3



1.

2.

23.

20.

21.

26.

19.

18.

4.

3.

5.

6.

7.

8.

9.

10.

11.

12.

13.

22.

4

1

2

1

2

1

1

1

1

1

1

2

4

M6A B C D F

G H I

M6x12 70pcs 18pcsM5x10 M4x8 16pcs 4pcs

4pcsM4 2pcs 2pcs

15. 2

14.

16. 1

17. 1

24.

28.

29.

1

2

1

1

1

1

2

3

4

2

1

31. 1

30.

32. 1

33. 1

2

25.

27.

2

2

3pcs

M6x30

5

34. 1

H-ZH300103

Z-A3128-RGC

Z-A3B23028

W-52930001

Z-ZH300129

Z-ZH300132

Z-ZH300133

Z-A3B23034

Z-A3B23033

Z-ZH300134

Z-ZH300130 

Z-ZH300131

ZH-A3B22006

W-A0402 

W-53650003 

Z-A3127-RGC

W-A3B23006

W-GD430013

W-DXL12012

Z-DXL12047

Z-ZH300110

Z-ZH300120

Z-ZH300119 

W-A3B22002

W-A3B23003

W-A3B23005

Z-ZH300104+
W-ZH300101

W-R3005+
W-ZH300102

W-DXL12021

H-A2CT2001

H-ZH300105

W-A3B23008

Z-ZH300141

M4x8

Side shelf  

Middle brace 

Front support 

Back support 

Cart front beam 

Rear shelf 

LP tank barrie 
bar

Left firebox brace

Right firebox 
brace  

Door

Handle base 

Door handle 

Door axle

 Tank base upper  

 Tank base lower 

Extension wire

Grease cup

Ash pan

Bottle opener

Grease tray

Flame tamer 

Side table (R)

Side table (L)

Handle 

Firebox 

Thermal baffle



CALIFORNIA PROPOSITION 65 WARNING!
1. Fuels used in charcoal and gas burning appliances and the combustion byproducts of such
    fuels, can expose you to chemicals including carbon black, which is known to the State of 
    California to cause cancer, carbon monoxide, which is known to the State of California to 
    cause birth defects or other reproductive harm.

2. This product can expose you to chemicals including nickel, which is known to the State of 
    California to cause cancer. Handling the brass material on this product can expose you to 
    lead, a chemical known to the State of California to cause cancer, birth defects or other 
    reproductive harm.

For more information go to: www.P65Warnings.ca.gov 



2

1
B

3

A

4

A

5

A

B 6 A

back support 4
A2

5
back support 12

the shelves

the rear shelves shelves



6

A

F

7

A

C

8

A

C

9

A

C

6
A rear A

F

7
2

2
and

C .

right
shelf

8
2

2
and

C .

left
shelf

9
4 A and 4 C



10

A

A

F

I

11

12

14

A

13

H

front support 10
A2

11 cart front beam
and to back support   

14 13
the 12 4 A

H

with 2 bolts (I) and  2 nuts (F)
with 2 bolts (A).



13 14

15 16

10

15

A

16

A
17

18

C

15 , i 16

Install tank base upper (17) to the bottom shelf
A

thermal baffles 18  toAssemble
8 Cand middle brace



17 18

19 20

11

A

20

19
A

A

21

A

22

lid handle (20) to lid with 4 bolts (A) 4
19firebox cart

Half screw 4 bolts (A) to shown 
positions of both sides of firebox.

Assemble the side table (L)  (21）to the firebox 
by hanging it to the half screwed bolts, fasten it with 
4 bolts (A). Then secure the half screwed bolts.

Assemble the side table (R)  (22）to the firebox 
by hanging it to the half screwed bolts, fasten it with 
4 bolts (A). Then secure the half screwed bolts.



21 22

12

A

23

24

25

B

23 24

8 A
23

2524


